HALLDE 3ANACHbIE YACTUK 2018

A LOCTITE NO.247

=

450

330,335

160,310
390

VEGETABLE PREPARATION ATTACHMENT
GRONSAKSSKARAR-TILLSATS

o
S - 1
ZO / — N
OJW 5 =
Sy
(@N]
< ]
- L
o~ \ - m
LT
wJ GGG N O
<O <t LN O
| =) - ~ M
m ~ & o O OOOOLN [ -
(V) A N LM (- ONMLM\oOr— ~ o O
a ODM o~ — I [N L
N © LM O 33/
| =a
G| oo = F =
- ~ (@N]
o > | > (=) — ™M




RG-50S

YyepTex HoMmep Ne unsgenusa OnucaHue WITYK
10 1414 KOPMYC, BEPX, BKJTIOYAA BAT HOXA 1
20 14249 BUHT, MKFX-H M5X14 A2-70 4
30 10259 PE3VHOBASA YMNOTHAIOLWASA LLAVBA, 18X30X7 1
70 14344 BWHT, M5X12 4

100 1411 LLKMB BAJTA HOXA B CEOPE 1
110 24293 KPbILKA SNTEKTPOHWKN, AM 1
115 24268 KPbILLKA SNEKTPOHWKW, UL 1
120 14851 BWHT, MRT-TT M4X10 A2 DIN 7500 5
130 14084 CTOIMNOPHAS LWAWBA, FBB 4.1 A2 1
150 155627 KPOHLUTEWH ANSA MNAATbl ANIEKTPOHUKIN, AVC BS-9A 4
160 14753 BWHT, RT-PTF 5.0X20FZ 4
170 24343 MINATA SNEKTPOHUKN 1
175 24344 MNATA SNEKTPOHUKN 1
210 24340 KOPMYC, HN3 1
220 10494 PE3MHOBAA HOXKA, F-107 B 4
230 14333 BWHT, MRX-H M4X12 A2 70 4
240 10262 KOJbUEBOE YIJIOTHEHUE, V-18S 1
250 1410 BAJ1 HOXA B CBEOPE 1
260 24146 WTN®T, BANT HOXA 1
270 10679 PEMEHb, GT 3MR 0408 18 1
310 24292 KPOHLLUTEWH, OBUIATENb, AM 1
330 15711 OBWIATENb, 220-240 1 50/60 1
335 24179 OBUIATEJb, 110-120 1 50/60 UL 1
350 24210 KABENb MATAHUA, 230 B, ANA EC (1) 1
355 24211 KABEINb MUTAHUA 120v US 1
360 10589 MPEOOXPAHUTENLHbIV 3AXKNM KABENSA, 55-016-89 1
370 14336 BVHT, MRT-H M4X25 A2 70 2
380 15422 KPEMJIEHNE KABEJIA, NK-5N 1
390 24296 KONbUEBOE YIJIOTHEHWE, BEHTUITATOP 1
450 1413 LUTUDST AKTUBATOPA, 3ALLNTHbIN BbIKNKOYATENb 1
500 24222 PYUKA «0-1» C MIMACTUHYATOW MPYXXVHOW 1
520 24295 MOBOPOTHbI/ NEPEKNIOYATE b, CC-32-1 1
530 24278 FEPKOH, NMPELOXPAHUTENbHbIV 1
535 24332 TEPKOH MPEOOXPAHUTENLHbLIA AM UL 1
600 24157 MNECTUK HALLDE 1
610 83032 MIACTUHA BbITAITKUBATENA 1
650 24634 BEPXHUIN 3NIEMEHT YCTPOWCTBA MOOAYN, 1
750 24116 Y3EJT MUKPOBbLIKINKOYATENA, CC-32/34-1 1

HALLDE 3ANACHbIE YACTK 2018




